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MCOM-04
June - Examination 2016
M.Com. (Previous) Examination
Financial Management
Paper - MCOM-04

Time : 3 Hours ] [ Max. Marks :- 80

Note:

fAder :

Note:

ﬁ'é?T :

The question paper is divided into three sections A, B and
C. Write answers as per the given instructions.

Ig UeH-UA ‘37, ‘¥ qUr ‘|’ o @uel # fawiia g1 i
Gug & MEATTAR Ul T IR ST

Section - A 8§xX2=16
(Very Short Answer Questions)

Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum upto 30 words. Each question carries 2 marks.

gus - ‘3’
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1) (i) What do you mean by Project Planning?
URASHT RIS 3 STTUwT T 379N & 2

(i) What is capital structure?
Uit ARET AT 8 ?
(iii) Write the formula for calculating Pay back period.

QYT 37afe bl U BT G felReu

(iv) Explain the concept of Cash Management.

RIS Te=g T TR bl THSEY |

(v) What do you mean by Receivable Management?

Tt & JEe- H 319 FIT FHeTd g 2

(vi) Give the formula of operating leverage.

uRETe Il o1 G qasul

(vii) What is ABC Analysis?
T, &t <t fagermor =y 22

(viii) Explain the objective of profit maximization?

ST 3TIBAHIDPRUT b ST Pl FHSTT|

Section - B 4X8=32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
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(Tvs - 9)
(oTg TR UeA)

fader: fhgl IR Ul & IR SINUI 31T U= IR I 31feepad

2)

200 gl 9 g HIfSTv| I w9 8 31 ol g

Explain the factors affecting capital structure of a business.
fopeit AT Y YSit FREAT Bl U1 - dTel gcehi T auid
HIfTT

Sun limited desires to purchase a new machine in order to

increase its present level of production. The cost of machine
will be Rs.7,000 and the net cash flows during its life will be as
follows:

I forfies oM adu™ SueT TR @ g™ & forv =t Tefie
BT PRAT Tl ¢l TofiF @ g 7,000 . @Y e #efiq &
StieT It | g hs TaTE §9 ThR gl:

Year Net Cash Flows (Rs.)
1 5,000
2 4,000
3 2,000
4 1,000
5 1,000

maximum rate of return laid down by the management is
30% p.a. Is the investment desirable? Discuss it according to
internal rate of return method.

gy gRT MafiRd ~Jgaq T R 30% arte gl @ A=
BRI g ? MRS TR &R AT & SR fao==1 S|
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Discount factor:
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Year 1 2 3 4 5
35% 741 549 406 .301 223
40% 714 510 .364 .260 .186

Explain the various factors you would consider in financial and

technical analysis of a project.

Teh RIS & I U depriieh! fageiyur  faawofiyr faftre aeat

B fadgT HIRR|

Calculate operating, financial and combined leverage from the

following data-

aReITer, famiia Ue Hgerd Silefep el UM ehifoTu—

Sales — 1,00,000 units @ 2 per unit

Variable cost @ Rs. 70 per unit

Fixed cost Rs. 1,00,000
Interest charges Rs. 3668

Throw light on the significance of Financial Management.

o yarg & 98 R YD1 Siferd|

Discuss the salient features of a stable dividend policy.

fRR arwier AT & T F&un i fae==T BT

Explain different sources of project financing.

RIS o & fafte &g sarsul

Write a note on “Responsibility of modern finance manager”.

"'agfe o Ueed & ITRGIRIG’’ W U o fefau)
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Section-C 2X16=32
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum upto 500 words. Each question carries
16 marks.
(Tvs - W)
(Sref ST ¥9d)
fAder : gl gt ueAl & ITR SISTTI 31T 39 ITR DI 500 &G qD
R HITTI Tdd 9T 16 it BT B

10) Describe the various sources of short term finance.

JudhTeiq fad & I Qe &1 guiT HIfR|

11) Write short note on following:
(i) Calculation of cost of capital
(i) Meaning and importance of time value of money.
frfeRad w Gfem feoaformr faRaa:
(i) USH T SR T TUH]
(i) HGT & T Teg BT 37ef & Agd
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12) The following is the capital structure of S. K. Limited:

After tax Cost

Capital Amount | of Capital
e 1 T o | R g A
[CING)
Equity Share Capital 10,00,000 11%
FHAT 3797 Goit
Preference Share Capital 2,50,000 8%

(Rs.10 each)
M 3fer fr (10 5. UAD)

Retained Earning 5,00,000 11%
STHT §dd

9% debentures 7,50,000 4.5%
9% HUUA

Find out the weighted average Lost of capital.

AR 3IRIT Uit &1 AT bl TUMET BRI |

13) What is operating cycle concept of working capital? How
you will determine the amount of working capital under this
method?

BRI YSiT bl URTATAT <Ish STTLRUN T ¢ ? 597 ey | prfefiat
USTT T JIAT T STFH o THIRIT ?
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